N
(G & (MR =T B N ACE R T (B2 T IX)
g 1T 5 ik |[IBBAmSARL
AT B EE |0 JTHE10H28H () FRIT10KF005)
W4T 5 pr |THRPTHIEE2RE LR AKGEEMERE
E2l 17 FH|REAEI VT RE
A AL o F
w w4 7\47FL A ALl k& C ) & =
PRAE4E 1 [A] 2 [H] 3
lg%ﬁ%‘/%ﬁ%(ﬁe)ﬂﬁ P 32,303,000 \ <E6?|§cL:ot@
2 | (B BeL T s | 32,303,000 \
3| (B A T s | 32,303,000 \
4| SREER ) s | 32,303,000 \
5 | (k) REIERE 18 37 sk | 36,619,000 \
6 [0SR H s | 32,303,000
7
8 X
9 X
10 \
11
12
13
wooE & @ ¥ 32,303,000 —  GEABAESRE)
{E AT RBcplifhz i =T H 1008 —1
BT ¥ F |EE LT R BRSO L ST
REERAL:fr & L 0 & 5L
s
e D) ,303,




